HENEREREES i
DMS5EFE3HA30H OK)

6:550) (81 @ kg )
pHE i RiEL o2 = B Z B " =
2% RAT 30.8 80 56
£S5 699.5 1,096 419
LHLA 48.7 373 50
TFELSHLA 337.5 948 240
2O0F 30.8 319 36
F7> 0 260.1 232 115
HFHS 24.1 40 35
U 1% 50.0 4,600 3,200 |5 <
TFES ] 254.8 739 100
HFFT ] 37.9 1,600 800
EHE 1,774.2




€::3-2)

(EfZ : kg )
pHE i miEH B = = 1B Z 1B " =
EEXFE 2&  |)UHLA 25.8 390 200
LSHLA 35.1 419 139
<IALA 27.1 789 198
10& |13 HD>STA 684.2 1,690 1,350
AERHE 16% ASHISSIA 382.3 2,400 1,700
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1,154.5




(B : kg)

[i&&]
BT EEE] fatEd = = fB Z B fm =
E 2% £S5 76.3 2,000 700
< 7FI 175.1 3,000 2,100
EEXRAE 28 |[ESX 33.2 2,200 800
#H 8% £S5 25.6 2,500 2,000
aityE 310.2




